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>>>
>>>
>>>

!

>>>

strl = "string"
str2 = "practice"
stri[1]

strl + " " + str2

'string practice'

>>>

l.tr.l

>>>

stri[1:3]

strif[:3]

'str'

H-
=

- 2Rt



For 22 THes= LIERLHZ]
(for)
sum = 0

O} &

— -

for i in range(10):
sum += i def loop(acc, i, n):

if(i >= n):

(recursion)
return acc

sum = 0
def loop(i, n): else:
global sum loop(acc + i, i + 1, n
if(i >= n): loop(0, 0, 10)
return sum
else: siLtel g2, bl ChMIE 4 UCH)
sum += i s =272 j2{CY!)

loop(i + 1, n)
loop(0, 10)




>>>
>>>
>>>
>>>
[1,
>>>
>>>

>>>

lstl
Lst2
Lst2.
Lst2
2, 3,
Lst2.

[]
= [1, 2, 3]
append(4)

4]
append("hello!")

lstl.append(["This is list in list"])

lstl

[['This is list in list']]
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# Python3

# Gene 1is given by string
genel "RR"
gene2 "Rr"

# Make function that make '"germ_cell"
# function : list(gene) —> list(germ_cell_gene)
def make_germ_cell(gene):

# Fill with some code

# You should return "list of germ_cell gene" like "R" and "r"
pass

o2 2|AES 2|Hsts
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-1 A

hwang@Seungmins—-MBP mendel % python3 mendel_1.py
genel : RR

gene2 : Rr

RR -> ['R', 'R']
Rr -> ['R', 'r']

genotypes of next generation are :
[IRRI’ Ier]
[IRRI' 'Rr']
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def lst_mul(lstl, 1st2):
# matrix multiplication

lenl, len2 = len(1lstl), len(1lst2)
matrix = []

for i in range(lenl):
row_vec = []
for j in range(len2):
# 7?7
# 7?7

return matrix

germ_cell listS 0|83l 22| Scto|=0f| LERE HIZHE 2 = = ZESE Eds

(1E : “abc” + “def” -> “abcdef’S AF2519 T3} 5
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hwang@Seungmins—-MBP mendel % python3 mendel_1.py
genel : RR

gene2 : Rr

RR -> ['R', 'R']

Rr -> ['R', 'r']

[IRRI’ |Rr|]

[IRRI’ 'Rr']

genotypes of next generation are :}
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def get_phenotype(punnett):
# find phenotypes from punnett square(genotype)
pheonotype_table = []
for row in punnett:
new_row = []
for gene in row:
# 277

pheonotype_table.append(new_row)
return pheonotype_table

# 7272 K20] O ACE AM0f BI1R??
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loop(acc = “R”, remain = “YyAa”)

loop(acc = “r”’, remain = “YyAa”)

N

loop(acc = “rY”, remain = “Aa”) loop(acc = “ry”, remain = “Aa”)

loop(acc = “rY”, remain = “Aa”) loop(acc = “ry”, remain = “Aa”)

. TH2f 031 LR MAE £ YL
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def make_germ_cell(gene):
# 1init germ cell
# gene is given by : (Rr)(Yy)(Aa)...
germ_cell_list = []

# Higher order function
def loop(acc, remain):
if (remain == ""):
germ_cell_list.append(acc)
else:
hd_gene = remain[:2]
remain = remain[2:]
loop(acc + hd_gene[0], remain)
loop(acc + hd_gene[1l], remain)
, gene)

Loop (

print("genotypes from ", gene, " are : \n", germ_cell_list)
return germ_cell_list
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hwang@®Seungmins-MBP mendel % python3 mendel_2.py

gene :
gene :

RrYy generated
RrYy generated

genotypes from RrYy are :

['RY', lRyl’ 'rY', |ry|]

genotypes from RrYy are :

[IRYI’ IRyI’ erl' lryl]

gene :
gene :

generated
generated

RrYyAa
RrYyAa

genotypes from RrYyAa are :
['RYA', 'RYa', 'RyA', 'Rya',
genotypes from RrYyAa are :
['RYA', 'RYa', 'RyA', 'Rya',

LA, SrYa; TVA';

g 2 (. G ) £ Tl 5T/ R

|rya|]

|rya|]
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— =
gene“? Rr?yAa generated l -
gene : RrYyAa generated
genotypes from RrYyAa are :
['RYA', 'RYa', 'RyA', 'Rya', 'rYA', 'rYa', 'ryA', 'rya']
genotypes from RrYyAa are :
['RYA', 'RYa', 'RyA', 'Rya', 'rYA', 'rYa', 'ryA', 'rya'l
['RRYYAA', 'RRYYAa', 'RRYyAA', 'RRYyAa', 'RrYYAA', 'RrYYAa', 'RrYyAA',
['RRYYAa', 'RRYYaa', 'RRYyAa', 'RRYyaa', 'RrYYAa', 'RrYYaa', 'RrYyAa',
['RRYyAA', 'RRYyAa', 'RRyyAA', 'RRyyAa', 'RrYyAA', 'RrYyAa', 'RryyAA',
['RRYyAa', 'RRYyaa', 'RRyyAa', 'RRyyaa', 'RrYyAa', 'RrYyaa', 'RryyAa’,
['RrYYAA', 'RrYYAa', 'RrYyAA', 'RrYyAa', 'rrYYAA', 'rrYYAa', 'rrYyAA',
['RrYYAa', 'RrYYaa', 'RrYyAa', 'RrYyaa', 'rrYYAa', 'rrYYaa', 'rrYyAa',
['RrYyAA', 'RrYyAa', 'RryyAA', 'RryyAa', 'rrYyAA', 'rrYyAa', 'rryyAA',
['RrYyAa', 'RrYyaa', 'RryyAa', 'Rryyaa', 'rrYyAa', 'rrYyaa', 'rryyAa',
o ZF = re) = — A O SlolIsF A
¢ El'l:lJ—l' Eol En_ —DE%I'Ol L_-l' EE—:!Eln_ E|=|E %!'n_l% T

'RrYyAa']
'RrYyaa']
'RryyAa']
'Rryyaa’]
'rrYyAa']
'rrYyaa’]
'rryyAa’']
'rryyaa’l
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['RYA', 'RYa',
['RYa', 'RYa',
[IRyAI, IRyal’
['Rya', 'Rya',
['rYA', 'rYa',
['rYa', 'rYa',
['ryA', 'rya',
['rya', 'rya',

o Ct=2} Z0| punnett AFZFSU[A LIEILf= ZH x|

IRyAI,
IRyal,
IRYAI,
'‘Rya’,
"ryA',
‘rya',
"ryA',
‘rya',

IRyal'
IRyal,
IRyal,
'Rya’,
‘rya',
‘rya',
‘rya',
‘rya',

'"rYA',
'rYa',
IryAl,
‘rya',
"rYA',
'rYa',
'I‘yA',
‘rya',

7
—

'rYa',
‘rYa',
|r.ya|’
‘rya',
'rYa',
‘rYa',
‘rya',
‘rya',

"ryA',
‘rya',
"ryA',
‘rya',
"ryA',
‘rya',
'ryA',
‘rya',
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'rya']
'rya']
'rya']
'rya']
'rya']
'rya']
'rya']
'rya']
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5. &t Object +¢

# gene.py
class gene():
# RUXE UEH= class
def __init_ (self, code = "None"):
self.code = code
print("gene [", code, "] has been generated")
def _ str__ (self):
return self.code



4, QMEXN| Object -1 ¢
class chromatid():

def __init__ (self, gene_list = []):
self.genes = gene_list

def add(self, gene):
self.genes.append(gene)

def remove(self, gene):
self.genes.remove()



